Integer division up to 100 #2

21) 506 + 11

22) 3354 + 86

2068 = 22

23) 2156 = 28

2541 + 33

24) 1760 = 88

370 =5

25) 4692 + 51

4536 + 56

26) 3920 <+ 70

3102 + 66

27) 15+ 5=

2210 + 65

28) 1968 + 41

2773 + 47

20) 1562 = 22
30) 90 = 30

3685 = 55
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690 + 23

31) 391 + 23

943 + 23

32) 3055 + 47

4290 =+ 66

33) 1368 + 24

6177 + 87
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34) 6596 =+ 68

14) 5076 = 54

35) 2116 <+ 46

3525 + 47

36) 4947 + 97

1160 = 58

37) 4980 = 60

8648 + 92

38) 2205 + 63

2108 = 68

39) 2970 + 66

4096 = 64

40) 2640 = 60

4930 =+ 85
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Integer division up to 100 #2 (Solutions)

8 +-8=11
2068 22 =94
2041 =33 =77
3710 +5="T74
4536 <+ 56 = 81
3102 + 66 = 47
2210 +-65 =34
2773 =47 =59
3685 + 55 = 67
690 = 23 = 30
943 =+ 23 =41
4290 + 66 = 65
6177 +~87 =171
5076 + 54 = 94
3525 =47 =175
1160 =+ 58 = 20
8648 - 92 = 94
2108 - 63 = 31
4096 = 64 = 64
4930 + 85 = 58
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506 = 11 = 46
3354 <+ 86 = 39
2156 =28 =177
1760 = 88 = 20
4692 =+ 51 = 92
3920 = 70 = 56
15+5=3
1968 + 41 = 48
1562 +22="T1
90 +~30 =3
391 =23 =17
3055 =+ 47 = 65
1368 =24 = 57
6596 + 68 = 97
2116 + 46 = 46
4947 =97 = 51
4980 < 60 = 83
2205 + 63 = 35
2970 =+ 66 = 45
2640 =+ 60 = 44



